TO-92 Plastic-Encapsulate Transistors
2SA1300 TRANSISTOR(PNP)
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ELECTRICAL CHARACTERISTICS

(Tamb=25C unless otherwise specified)

FEATURES

~ Power dissipation

Pcm: 0.75W (Tamb=257)

ICM: -2 A
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Vriceo: -20V

 Operating and storage junction temperature range

Tstg: -55DC fo + 15U¢C
Ts. 150C

Cnl.le.ctnr-hase breakdown vﬁitaga V(BR)CBO lc= -1 mA, le=0 -20 Vv
qulectnr-emittér Ii:tga_kdnwn voltage V(BR)CEO lc= -10 mA, 1s=0 -10 V
l Emitter-base.breakdﬁwn voltage V(BR)EBO le= -1 mA, Ic=0 -6 \
Collector cut-off current Iceo Vea= 20 V, le=0 0.1 LA
Emiﬁer cut-off current leso Ves= -6V, lc=0 -0.1 nA
| DC current gain hre Vee=-1V, Ic=-0.5A 140 600 I
Collector-emitter saturation voltage VCEsat “le= -2 A, Is= -50 mA 0.5 V
Base-emitter voltage Vee Vce= -1 V lc=-2A -1.5 Vv
e Vee=-1V, lc=-0.5A |
Transition frequency fr 100 MHz
f =30MHz
Rank Y - GR BL
I
Range 140-280 200-400 300-600




Typical Characteristics
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